

Vendor Ranking Page 1 of 1

**Letting:** 08210810 August 10, 2021 02:30 PM **Call Order:** 001 **Contract:** E8T32-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 44336517202 (\*)

Contract Desc: POND AND CANAL MAINTENANCE - ZONE 1

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$423,500.00	100.00% Intent to AWAF
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$433,043.00	102.25%
3	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$1,377,540.00	325.28%
	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: AUGUST 24, 2021, 4:00 PM



**Tabulation of Bids** Page 1 of 3

**Letting:** 08210810 August 10, 2021 **Call Order:** 001 **Contract:** E8T32-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 44336517202 (\*)

Contract Descr: POND AND CANAL MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to perform maintenance of wet stormwater ponds, canals, and roadside ditches, at various locations on the Homestead Extension Florida's Turnpike (MP) 0.0 to 46.5; Florida's Turnpike, Milepost (MP) 0.0X to 100.0, and Sawgrass Expressway, MP 0.0 to

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

Contractor shall utilize mechanical aquatic harvesting equipment (tow boats, conveyors, work boats, amphibious vehicles, etc.) to perform much of the work.

### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate Quantity Item Description Units	(1) T & M LAWN-FENCE SERVICE INC	(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	(3) SUPERIOR LANDSCAPING & LAWN SE					
( ) indicates item is bid as Lump Sum	Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount					
SECTION: 0001 (ROADSIDE DITCHES-CLEAN AND RESHAPE (LF								
0005         0107 1         400.000           LITTER REMOVAL         AC	10.00000 4,000.0	0 38.00000 15,200.00	32.00000 12,800.00					
0010 0120 10 11 500.000 CLEAN AND RESHAPE DITCH, SPREAD, LF DITCH WIDTH UP TO 15'	1.00000 500.0	0 4.11000 2,055.00	28.00000 14,000.00					
0015	4.00000 4,000.0	0 4.11000 4,110.00	28.00000 28,000.00					
0020 0120 10 13 1,000.000 CLEAN AND RESHAPE DITCH, SPREAD, LF DITCH WIDTH GREATER THAN 30'	7.00000 7,000.0	0 4.61000 4,610.00	28.00000 28,000.00					



## Tabulation of Bids

Page 2 of 3

Lettin	<b>g:</b> 08	3210810 Au	igust 10, 202	1 Cal	Il Order: 001		Contract:	E8T32-R0	
	No / Item ID			(1) T & M LAWN-FENCE SERVICE INC		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) SUPERIOR LANDSCAPING & LAWN SE	
( ) in	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price LL	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (F	ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	F			
	0120 10 21 AND RESHAP WIDTH UP TO	E DITCH, HAUL, 15'	500.000 LF	1.00000	500.00	6.61000	3,305.00	26.00000	13,000.00
	0120 10 22 AND RESHAP WIDTH 15-30'	E DITCH, HAUL,	5,300.000 LF	5.00000	26,500.00	7.61000	40,333.00	27.00000	143,100.00
	0120 10 23 AND RESHAP WIDTH GREAT	E DITCH, HAUL, 'ER THAN 30'	30,000.000 LF	7.40000	222,000.00	7.41000	222,300.00	30.00000	900,000.00
0040 REMO\	E106 22 5 VAL & DISPOSA	AL MATERIALS	30.000 CY	100.00000	3,000.00	91.00000	2,730.00	88.00000	2,640.00
0045 CLEAR	E110 2 ING & GRUBBI	NG	40.000 AC	3,900.00000	156,000.00	3,460.00000	138,400.00	5,900.00000	236,000.00
	001 ROADSIDE LEAN AND RES	E DITCHES- Sec SHAPE (LF)	tion Totals:		\$423,500.00		\$433,043.00		\$1,377,540.00
		Contract Gran	nd Totals:		\$423,500.00		\$433,043.00		1,377,540.00



**Tabulation of Bids** Page 3 of 3

**Letting:** 08210810 August 10, 2021 **Call Order:** 001 **Contract:** E8T32-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.